100 —— Only effective in TRG

S —— Only effective in RECIST
2

c TRG RECIST
= effective effective
2 S0 DFS

= mDFS(month) - 24.93
g : P value 0.75

[}

o

0 I I I I 1
0 10 20 30 40
Disease-free survival (months)
B
100 —— Only effective in TRG

S ] —— Only effective in RECIST
2 ]

c E TRG RECIST
a b effective _ effective
= 50 mOS(month) -

o ]

o . P value 0.52

g 4
o x

0 ] I 1 1 I 1
0 10 20 30 40 50

Overall survival (months)

Supplement Figure 2. Kaplan-Meier curves for patients with different responding conditions of TRG

and RECIST. (A) Disease-free survival, P=0.75; (B) Overall survival, P=0.52.



